sviiem| IMpact Safety Partition -
Caddy Cargo

Complete installation



SYSTEM

Impact Safety Partition -
Caddy Cargo

Parts in 28100-04

0 O O O o0 O O O O

Distance 43 mm
Distance 15 mm
Safety screw M6x16
Safety screw M6x35
Safety screw M6x45
Safety nu M6
Safety screw M8x12
T Track nut 12x35x8
Screw RXS 4,2x13

A D BPpONNENMNN



Assembly in first and
second hole in the B-
beam on both sides.

S\
SYSTEM

Impact Safety Partition -
Caddy Cargo

After assembly the M6 fixation
apply glue on this surface to fix
wall

Use the fixation for the lashing
eyelet for the lower bracket on
both sides




serem| Impact Safety Partition -

Caddy Ca rgo Possible to fix the lashing

eyelet in these fixation
hole.

Fixate the Impact Safety
partition with M6x45
and M6 nut.

Fixate the modul floor with
bracket and M8x12 with t-
track nut. Assembly also
RXS screw in the aluminium
profile




Objekt

f) vy
TN D )




Misc

I @ 99 x M8




